1000/c da)/dm [1/GeV]

Ratio to CMS

=
o
w

=
o
N

=
o

0.5

7000 GeV pp W+Jet
E|_'|'|'|'|'|'|'|'|'|'|'|'|'|'|'|'|'|'|'|'|'|'|_:
= Filtered Jet Mass(CA(1.2), 220<p <300, |y|<2.5) =
= I,//EE’ ) = —
E ;I/I mﬂl E
S ICVE a
__ 4/} Pythia 6.425 350 —
= é‘ Pythia 6.425 351 =
- [ ¥~ Pythia 6.425 352 A .

----- A~ Pythia 6.425 353 D
G-~ Pythia 6.425 354 S =
- -~ Pythia 6.425 355 “:}i\;\*_‘
----- e Pythia 6.425 356 v i%
Pythia 6.425 357 :
Pythia 6.425 358 E
--=-- Pythia 6.425 359 |

%

Rivet 3.1.0, = 6.9M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


